ENGLISH VERSION |
SECTION - ‘B’ : MATHEMATICS

026 A bullock cart is carrying 230 kg of sand to a construction site. If 4.65 kg sand slipped
away on the way to the site, then find the amount of sand that reached the site.
(1) 226.65 kg (2) 234.65 kg 225.35 kg

(3) 225.45 kg @/
027 If the speed of the car is reduced from 100 km/hr to 50 km/hr, then the time taken to
cover the same distance will .
(1)  Remain same (2) Will be reduced by 50 minutes
\ﬁ-%/\ Double (4) Will be increased by 50 minutes

028 A train covers a distance of 1862 km with a speed of 98 km/hr. Compute the time taken
by the train to cover this distance.
/(3/)/ 19 hours

(1) 17 hours (2) 23 hours

029 Find the sum of 4-digit greatest number and 6-digit snallest number, each having 3
different digits.
(1) 109995 1000989

(4) 21 hours

( 109989 (3) 110020 @
030 Subtr_ac_t 28,576 from the sum of the least and the greatest 5-digit number formed using
the digits 3. 0, 5, 8 and 1.

(1) 67,092 (2) 84,653 (3) 68,932 4) 73,695
031 The complement of one-fourth of a straight angle will be -
(A) Acute angle (B) Right angle
(C) Obtuse angle (D) Half of a right angle
(1) Only (B) (2) Only (C)
(3) Both (A) and (B) (4) Both (A) and (D)

e half of a right angle. Find its supplement.
135° (3) 145° 58

033 While arranging the given fractions from the least to the greatest, which fraction will be
at second last place ?

032 An angle is three times of
(1) 90°

315 7
5737671
1 5 J/ 3
m 3 @ z ® 15 @ 3
034 Arrange the following fractions in ascending order :
2579
3°6" 8 14
7529 5 1259 50 9257 . 9725
D rera® 52357 ® T3 ® e
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sree Fahrenhicit.
035 The normal body temperature of a human being is 37°C. (‘(»n\ir/l‘)tyll“‘:—rhg Fahrenh
98°F (2) 97°F (3) 959 98.5°1

(N
036 The dﬁerence between — 50°C and 72°C is . ‘
(D 122°C (2) 42°C (3) +320C (4) + 102°C
037 Express 18 kg 5g as kg )
(1) 18.5 kg (2) 18.500 kg (3) 18.05 kg (4) 18.005 kg -
038 Find the number of zeros on 1 km when you convert a kilometer into millimeter.
a s 2) 6 3) 7 (4) 8
039 Which of the following is the correct representation for number 99 ?
(1) IC (2) XCvIII (3) XCIX (4) L+XXXXIX
040 Find the value of : MXLII + CXCIV — LXIII
MCCLXXIII  (4) MCXLIIV

(1) MCLXXIII (2) MCCCCXXIX (3)
041 Name the type of an angle whose measure is 29° more than the diflerence of 136° and
77°.

(1) acute angle 2) reflex angle

obtuse angle (3) right angle (4)

042 Which of the angles in the given figure is larger than two (2) right angles ?

(2) Both La and £d

(1) Only Za
(3) Only ZLc 4)

Za. Zb and £d only

043 Read the given statements and choose the right option.
Statement A : All chords of a circle are diameters.
Statement B : Diameter is the longest chord of the circle.
(1) Only statement A is true. (2) Only statement B is true.
(3) Both statements are true. (4) Both statements are false.
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044 1he .
¢ product of place-value and Face valye of digit 6 in the number 7860443 is —

(1 .
3652800000 (2) 3600000000 (3) 3626580000 (4) 360000000

045 Fing
oy ¢ smallest five digit number using three different digits
10000 (2) 20000 (3) 00021 (4) 10002
046 |1 er is divie i
di\l' v’.“"“bu is divisible by 8 and 3 both, then by which other numbers will it always be
visible.
(1) 8 and all its factors (2) factors of 3
(3) " factors of 24 (4) factors of 12
047 The p .
\'\"1; Eloducl of two numbers with LCM of 112 is 4032. The HCF of the two numbers
(&
(1 @ 12 3) 9 ) 36
048 The cost of a dozen .headphones is T 78.564. Samar wants to buy five headphones. Find .
the amount to be paid by him to get five headphones.
(1) T 40,675 (2) T32,735 (3) T32375 4) T 43,675
049 ‘Irisha fs arranging fruit juices for 40 classmatgs. She wants to serve 250 ml of juice to
f:ach of the classmate. What is the minimum number of tetrapacks she requires for serving
if’ each tetrapack contains 2.5 / of juice ?
1y 2.5 @) 3 (3) 4 @ 10
050 Compute the reciprocal of expression given below :
34, 45
15717
) % 2) % 3) é (4) does not exist

5 . .
Radhika bought 8% kg of fruits. She used ZE kg of fruits in pudding and kept the rest

for fruit salad. What is the quantity of fruit left for fruit salad ?

2 5 . .5
(h 675 ke @) 573 ke (3) 657 ke @) 557 kg
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052 A batsman score.d 190 runs which included 10 boundaries and & <i .-s. What poreent ol
his total score did he make by running between the wickets ?
(1) 50% (2) 60% 3) 70% 4 75%

053 Riya is doing a paper cutting activity. She cuts out four identical square corners of the

rectangular sheet as given in the figure. Find the area and perimeter of the remaining

sheet.

(1) 416 sq. cm 88 cm (2) 316 sq. m 80 cm
(3) 480 sq. m. 88 cm (4) 480 sq. m 80 cm

054 Find the arca of the unshaded region in the given figure.

(2) 28.8 cm? (3) 24.55 cm? (4) 22.05 cm?

(1) 6.75 cm?

055 A farmer borrowed a sum of ¥ 10,000 from a bank at 5% rate of interest per annum. How

much interest will he pay the bank in 3 years ?

(1) 30,000 (2) % 1,500 (3) ¥ 500 (4) ¥ 11,500

056 Rijul took ¥ 50,000 from a person for 3 years at the rate of 8% per annum. Find the
amount paid by Rijul to that person after 3 years.

(1) ¥ 52,000 (2) ¥ 62,000 (3) % 51,200 (4) ¥ 48,000
057 Find the supplement of complement of two thirds of a right angle.
(1) 120° (2) 150° (3) 30° (4) 60°
058 In the figure given, the measure of x is
J
(1) 124° (2) 43° 3) 77° (4) s56°
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059 The table below shows the price of some items in a shop =~

Price per kg

What is the ratio of combined price of Sugar and Rice to that of Coffee and Wheat 9

(1) 9:14 Q) 2:3 (3) 4:5 4) 3:
060 What least number should be added to each term of the ratio 7 : 13 to get the ratio 2:3 9
1) 1 2) 3 3) 5 @) 7
061 By selling a watch for ¥ 1.275 Javed lost 15%. Atwhat price should he sell 50 as to make
a profit of 10% 2
(1) T 1.500 ) T 1.600 (3) T 1,650 ) %1700
062 Seema and Ravi invested ¥ 1,50,000 in a business in the ratio of 2 : 3. At the end of the
year. they made a profit of 150% on the invested sum. If they share the profit money in
the same ratio. then what will be Seema's share ?
(1) ¥ 1.50.000 (2) 20,000 3) T 135,000 (4) 90,000
063 Which of the given statement is true ?
(1) 21-15)-6=21-(15-6) (2) 14x36+6-10=84
(3) 93 x 63 —93 % 37 =9300 (4) 25+49+7x5-6=54
064 9+[6+70f3-(9+2-6=2)]
(1) 25 (2) 26 3) 27 4) 28
065 The mean for 13. 14, 19. a. 17 is 22. Find the value of a.
(1) 37 (2) 47 (3) 57 4) 67
066 Given below are the runs scored by a batsman in 4 matches. Calculate the average runs
scored by the batsman.
Match I I I v
Runs Scored | 35 0 6 98
(1) 139 (2) 140 (3) 46.66 (4) 34.75
067 What percent of 4 days is 6 hours ?
— < 1 1 1
[ 1) 5<% (2) 39 3) 6% 4)  4-=09
é‘ (1) 77° ) g% (3) 7" 4) 7 %
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068 Match List - I with List - II.

List - 1 List - 1
(A) longest chord (1) radius
(B) space between two radii (1) diameter
(C) half of a circle (1) sector

(D) half of diameter (IV) semi-circle
Choose the correct answer from the options given below :
(1) (A)-(IV). (B)-(1). (C)-(IN). (D)) (2)  (A)(111), (B)-(I), (C)-(1V), (D)-(11)
(3)  (A)-(IT). (B)-(IID). (C)-(IV). (D)) (4) (A)(1). (B)~(1I). (C)-(I1). (D)-(IV)

069 Three cubes whose each edge is 4 c¢m are joined together to form a cuboid. Find the
volume of the new cuboid formed.
(1) 64 cm’ (2) 0.064 cm? (3) 192 ¢cm3 (4) 12 cm?

070 The perimeter of one face of a cuboid is 40 cm. If the length and depth of this cuboid
is 13 cm and 8 cm. then find the volume of the cuboid.

(1) 846 cm’ (2) 625 cm? (3) 728 cm3 (4) 746 cm®
071 Which of the following are four consecutive composite numbers ?

(1) 22,23.24.25 (2) 60,61.62,65 (3) 56.57.58.59 (4) 90.91.92.93
072 A pair of twin prime number between 70 and 100 is

(1) 71.73 (2) 79.83 (3) 97.99 (4) 87.89

073 Name the triangle shown below based on both sides and angles.

scalene and right triangle
equilateral and obtuse triangle

(1) isosceles and acute triangle 2)
(3) obtuse and right triangle 4)
074 Given below are two statements : One is labelled as Assertion A and the other is labelled
as Reason R.
Assertion A : Right angled triangle is not a regular polygon.
Reason R : All the sides and angles of a regular polygon are equal.
In the light of the above statements, choose the correct answer from the options given
below :
(1) Both A and R are true and R is the correct explanation of A.
(2) Both A and R are true but R is NOT the correct explanation of A.
(3) A is true but R is false.
(4) A is false but R is true.

075 Find the value of 54 + 0.009.
(1) 0.006 (2) 6.0 (3)
o
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SECTION - «C’> : GENERAL KNOWLEDGE

076 Which animal was represented on ‘the mascot of the Delhi Asian Games 1982 2
(1) Elephant

(2) Lion
(3) Panda

(4) Tiger

07 § i i F
7 The deficiency of which of the following vitamins causes Rickets ?
(1) Vitamin - A © (2) Vitamin - D (3) Vitamin - C  (4) Vitamin - B,
078 Who was the first Governor General of Independent India ?
(1)  Rajagopalachari

(2) Mahatma Gandhi
(3) Lord Mount Batten

(4) Jawaharlal Nehru

079 ldent.ify the Indian Nuclear Physicist, who was the founding Director and Professor of
Physics at the Tata Institute of Fundamental Rescarch.

(1) Homi J. Bhabha (2) Ramanujan

(3) Vikram Sarabhai (4) Aryabhata
080 When was Bangladesh formed ?

(1) 1In 1971 (2) In 1905 (3) In 1970 (4) In 1947
081 Choose the correct option.

The United Nations (UN) was founded in S

(1) 1944 (2) 1945 (3) 1946 4) 1947
082 ldentify from the following. the disease related to brain.

(1)  Meningitis (2) Migraine (3) Jaundice (4) Diabetes
083 Choose the correct option.

Cow dung can be used as manure as it is rich in

E} (1) Nitrogen (2) Sugar (3) Mercury (4) Calcium
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84 Who appoints the Prime Minister of India ?
(1) The President of India
(3) The Chief Justice of India

(2) Chief Election Commissioner
(4) The Chief of Defence Stall

085 Kolkata is located on the banks of

(1) Ganges (2) Damodar (3) Hooghly (4) Padma

086 ‘Choose the correct option.

This palace. located in Gwalior was built by the Maharaja of Gwalior Jayajirao Scindia.
It has Italian and Tuscan style of architecture and is not a museum.

(1) Hawa Mahal Palace (2) Umaid Bhawan Palace
(3) Lake Palace (4) Jai Vilas Palace

087 In Ramayana, where did Lord Shri Ram marry Sita ?

(1) Ayodhya (2) Panchvati (3) Chitrakoot (4) Janakpur
088 Choose the correct option.

Food is stored in the roots of

(1) Potato (2) Sweet Potato (3) Onion (4) Ginger
089 Choose the correct option.

is the fastest healing body part.

(1) Tongue (2) Liver (3) Large Intestine (4) Skin
090 Ayodhya is located on the banks of the river :

(1) Ganges (2) Saryu (3) Godavari (4) Yamuna

091 Choose the correct option.
Sanjana found that as a seed germinates and seedling turns into a young plant, the size
of the seed leaves gradually becomes smaller.
It is because :
(1) The seed leaves are absorbed back into the seed coat.
(2) The sunlight withers the seed leaves.
(3) The food in the seed leaves has been used by the growing plant.
(4) None of these
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092 Animal which can sul;\'i\'CC‘;“IJIOUI water for a lon% time in desert. SECTION — ‘D’ : INTELLIGENCE
(1) Horse 2 (3)  Buffalo (4) Camel
101 Find the missing term.
093 The only species where the males bear the young. 400, 388, 376, 364, _? ) 372
(1) Dolphin (2) Whale (3)  Sea horse @) Tortoise (1) 352 (@) 350 (3) 354 (4) 2
094 Singlis Chham dance is related to which state 2 102 Find the missing term.
(1) Assam (2) Manipur (3)  Sikkim 4) Kerals 3,7.16.35 74. 2 )
@) Kerala (1) 153 2) 160 (3) 173 ) 151
095 The instrument used to measure the speed of a vehicle is :
1 Fill i c blank.
(1) Speedometer (2) Photometer (3) Odometer 4)  Tac ‘Lo | 103 Fill in the
(4)  Tachometer ADDG. EHHK. ILLO, MPPS,
UXx (3) QTTW 4) Pssv
096 A sport where people use a board with small wheels is : | (1) PRRT @ QU
ing (2) Sky divi ati skate boardi ’ ) . )
(1) Para motoring (2) y diving (3) Skating ) Skate boa:dmg [ 104 Select the correct figure which will complete the given grid -
097 This award is also known as the Lotus decoration and is India's second highest civilian 8] [IF][-"]
award. O|®|%)
(1) Arjuna award (2) Padma Vibhushan <} 0 ?
3) Bharat Ratn shok Chakre
3) arat Ratna (4)  Ashok Chakra 1 & 2 < 3 ¢ @ P
098 s the first sportsperson to win the Padma Vibhushan award in 2007. 105 Complete the following analogy :
(1) Vishwanathan Anand (2) Sunil Gavaskar Book : Author :: Dish :
(3) Kapil Dev (4) Sachin Tendulkar (1) Musician (2) Chef (3) Painter (4) Artist
099 Choose the correct option to fill in the blank. 106 Complete the following analogy :
Mountains arranged in a line is known as __ . Flood : Drought :: Genius :
(1) range (2) fold mountain (3) peak (4) table mountain (1)  Think (2) Intelligence (3) Brain (4) Foolish
100 Choose the correct option. 107 Identify the relationship in the first pair and find the missing term of the second pair.
Water is known as the universal solvent because : ADE : FGI 1 KNO : 2
(1) It has many uses. @ PQR @ PQT 3 RQP @ TER
(2) It can remove all kinds f d 3
(3) It is the med; . '0 ust. 108 Complete the following analogy :
i edium in which all body metabolism happens. Cough : Throat :: Asthama :
( t can dissolve many subst o : h '
M stances. 3 (1) Kidney (2) Lungs (3) Head (4) Liver
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109 Arrange the following in a Logical order from bottom to top.

113 Complete the following analogy :

& o B:4:G:_?2

(B) Toes R - . o

(C) Calves

o A 114 Find the odd one out.

e o (1) Orange (2) Earth - (3) Egg (4) Basketball
Choose the correct answer from the options given below :
(1) (D). (E). (C). (B). (A) (2) (B), (D). (E), (C), (A)

(3) (D). (A). (B). (O). (B) 115 Find the odd one out.

#)  (B), (C), (E), (D). (A)

: 19
1y 97 @ 47 G) 8l )
110 Arrange the given words as they occur in the dictionary - 116 Pick the odd one out.

(A) PRISTINE (1) Book (2) Pencil (3) Eraser (4) Computer
(B) PRINTER

PREVI
© . 117 Find the odd out.
(D) PREVENT

(E) PRIORITY

(¢Y] ) 3) (C)]
Choose the correct answer from the options given below : U O m
(1) (B). (A). (), (D). (B) (2) (C), (D). (A), (B), (B)

N . (B), (E). s 5 - , (D
@) D). (©). B). (B). (4) @) (A). E). B). (). (D) 148 Find the odd one out -
' (1) Kanpur (2) Vijaywada (3) Ganga (4)  Guwahati
111 Arrange the following in a logical order :
(A) Rain
B) Cooli X 119 Choose the odd one out -
( ooling (1) Guitar (2) Violin (3) Sitar (4) Flute
(C) Condensation .
(D) Heating )
. : 120 Complete the following analogy.
(E) Evaporation
o . ) DGA : 12 :: AMQ : _?
Choose the correct answer from the options given below :
(1 19 2) 31 3) 28 4 17
(1) (B). (A). (C). (D). (E) (2) (E). (D). (A). (B). (C)
3)  (B). (C). (A), (D). (E) 4) (D). (E). (B). (C), (A)
121 Find the missing number.
. . N Lo ) . . 5:22:8:_2?
112 Which of the following is the water image of 5374 2
= 5 1) 61 2) 37 3) 80 4) 50
@ (1) 2&74 (2) hvER (3) 232t (4) 2ETH g - M @ @
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122 Figures A and B are related in a particular manner.
between figure C and D by choosing a ficure from the
question mark.

Establish the same relationship
alternations. which replaces the

(1) @ (2) @ 3) @ 4) @

123 Complete the pattern :

(1) 2) (3) @ 4

124 Which of the following shapes is a part of the given figure -

(D _/! 2) < . 3) } > )

125 Which number replaces the question mark ?

D 7 3
@ 7 @
®
(1) 8 2) 3 3) 4 4) 6
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006 Prefafaa amd &1 we TEET
wiréy i @ gl 4 e s 2

(1) e \(/2) Ciei=cact (3) =FEuTE
007 Prefia watal & § <he v @ e st g
(1) s (2) =T R !
Dogﬁwﬁf@aaﬁmﬁﬁwwﬁql

TE FHIM 9 Y feare @ ¥
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) g (2) faden () fawr
010 Pretffa geray &1 sk s et

T qYAT BT

(1) e g (2 wifaq g (3) @ e
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015 fram @ & gf§ it
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(1)  argrETeT (2) orEwe 3y smw (4) o™
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(1)  w=ifes (2) wustE (3) wmifSEs 4) wlE
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(1) @i (2) o (3) =A
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e
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afr 4.65 frel T @ TR ¥ Aw M F A A 3, o Pratm-we 9 e @ wged 7 7
(1) 226.65 kg (2) 234.65 kg (3) 225.45 kg (/91 225.35 kg

027 af u& &R @ TR 100 feere/de & 50 Preiiie/a & F1, @ T8 FAT T FHE F o

fpae @9g @AW ?
(1) 9|F & 2) soﬁﬁzmﬁﬂ[
_ABFT E (4) 50 Pz sfus &
028 wH 3T 1862 Preiet siqt 98 Reciet/H # MRy § w9 HIA &1 T A T FH F fom

g% e @ @i
(1) 1749 (2) 23+ 3 19 @2 “4)

ozgﬁrﬁsﬁﬁa———rm‘zﬁz’t@ -3t gEY T G i 6 ST WA B " & am s
|

21 =52

(1) 109999 (2) 109989 (3) 140020 (4) 1000989

030 3.0,5,8\31"!'(Iﬁdﬁw“mmmﬂmaﬁraﬂwma@ﬁﬂ—mmaﬁ
% 9 ¥ § 28.576 HaHAT Bt |
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035 =@ @ siC 7 G AEE 37°C B ¥1 9% wREerse # ufiefia A

(1) 98°F (2) 97°F (3) 95°F @) 98.5°F
036 — 50°C afix 72°C & &= &1 AT £

W) 122°C (2) 42°C (3) +32°C 4) . +102°C
037 18 fpoT 5 W @1 feeam ¥ aRaEfGa @it

(1) 18.5 kg (2) 18.500 kg (3) 18.05 kg (4) ~18.005 kg

038 wig Ry @t freiriier ¥ aRafda &3 %, o 1 feandex & @

I B T B
(s (2] 3 7 “4) 8
039 fr ¥ ¥ Fd @ 99 & Sfaa '7 4 qufd 27
(1) IC (2) XCvi ~3) XCIX (4) L+XXXXIX

040 = s Hieg : MXLIT + CXCIV — LXIIT

(H MCLXXII (2) MCCCCXXIX (3) MCCLXXIIl (4) MCXLIIV
041 @ FFar Hor ¥ Rraer A 136° @i 77° % oidx & 29° aftm ¥ 7
{2y fe (3) wHH (4)  wfqafd @

(1) . =AerT
042 S A T o F B G BT D (2) T A TS E?

A L

(1) A=d ZLa (2) @ La X £d

3) Aad L @) ZLa. £b &R Ld FIA

043 Frefafaa faam @ ufeq ot s wafa g
faem A-ga % @l S § @ = ¥
fyur 3-=are g9 @ wEd @4 SEr ¥
(1) aw faam A |3 ) (2) %aw Rrum B 4 ¥

[l 3) 1 faue @@ ¥ (4) ﬁ&mﬁm%l 8

)] \

HI/REETA/6/23 K| /Sk’

N

@

5 [Conld...
k\l y W

A\

044 7860443 dar ¥ 3% 6 % wefrm w ofiT SifEA T wm T # .
(1) 3652800000 (2) 3600000000 (3) 3626580000 (4 360000000
045 i R SiEl BT STE HXH FAQ B G-I weAr S S

(1) 10000 (2) 20000 (3) 00021 @7 10002

046 uﬁ'@m‘w83ﬁt3%ﬁwﬁaﬁm%aﬁaﬁwaﬁwﬁm%mawm&mm 1 THE
27
(1) 8 &iT 3% AR oA °S (2) 3% E @
() 24 % T ES 4) 12% pE Es

047 e 4. (o, @ w) 112 %, 3@ & deei & oA 4032 %1 39 9 @A B o9, 4.

[Cahau ARy QE—
UH 36

(n 1 2) 12 3) 9

048 TF T W @ BT T 78,564 ¥ WAT B Ui FHA @I ¥
¥ ufg ¥eBE @ieT & R feafl whw ofaT T ERf 7
(1) T 40,675 (2% 32,735 (3) T 32375 “)

049 hanmmm%fmq&mmww%uammﬁmwmw
7 TTEd 31 AR wde 227 4% § 2.5 / 9@ ¥, O OF HAE HA fha 21 AT 1 smasgswsar a7
1 25 2 3 3) 4 A 10

T 43.675

050 - RF T =ivis B Gopd B TUET HRTCI

%
R L
17 2
L8 15 1 AN
M 35 @ &£ 37 ¢ Mqaﬁ%

_E -
051 frer % 8- fom wr @iy I & Z%ﬁmwﬁwwmgﬁn‘ﬂﬁ%ﬁqiﬁmeﬁr

o F E T T I F fg @ R
TET fFa % e wee g & o vl ¥
= (1) 675 e 2y 51%%7;11 () 637 fom “) Sz%ﬁh'm

o

3
| Contd...

Hl/RLLTA&ﬁ/"S 7
\‘S‘ [N
/égé Ve - g)
ng/ S G; S
e G
P SN Y S




T S 100 T T Rred 10 < ofit 6 EE i ¥ e A g g H A

%ﬁ%wﬁv*’mw—s“m%@wﬂmm?
(1) 50% Q) 60% (3) 70% @ 7%

053 far w Fed B Bd FX @ ¥ 9% frg w@ T RA engd ¥ qafar mr ¥ s@ 9@ 0
mwawmwﬁmaﬁqm%|ﬁwwwﬁmmmwmml

a -
«——— 24cm — }‘
;4:;»7""‘4cm| 7 5 7
A cm
20 cm
4cm 4cm
JCm l
WA) 416 sq. cm 88 cm " (2) 316 sq. m 80 cm
qy) 480 sq. m. 88 cm _(4) 480 sq. m 80 cm
054 ﬁﬁﬁ\mﬁﬁmﬁwmmml N
a Al
AR 0,
<2cm> AT\

T ‘.'f,, icm T 9.S 5'(0 q&"“ ’ Pe
|25em DSC'“‘V 4.0cm : o= v _.C 0% v
| | 7BEw  em 7{0 Ysro VA

<2cm-> ds

<
B\en
wy\ ©

o

<«——72cm
(1) 6.75 cm? «X;)
s e ¥ 5% Wig ad @1 =@ 2 & %9 T 10.000 F A o 3 @l ¥ 98 A% @I fba

28.8 cm? (37 24.55 cm? (4) 22.05 cm?

059 9 & T AfE TH gEH B F Al B AE L Y

T @a wfa fEm

ikl T2

T T 108

Eaual T 237

R T 63
St ST T B wgE Bidl B HE ST TG B wgE B A B G 00
(1 9:14 2 2:3 (3 45 b 308

=T BT ¢

060 eﬁwmzﬁmmﬁiﬁ%rﬁaﬁwaﬂm%ﬂwémﬁé’rﬂ’r‘?ﬂr’?f’“"»
(1 1 2 3 NE 4 7
061 wH T8 T 1.275 § 9wt W@ B 15% JHEHE g1 10% @ famT & 5 owE aw =
A=l Brfr ?
(1) T 1.500 () T 1,600 (3 T 1650
06%/%&!?16?\“(1‘&!%@&?)1‘7'?l.50.0003ﬁw2:3%a¢3¢mﬁﬁixﬂaﬁrm‘%
% 5F T @ W 150% AN g AR A A B IHH FHIH S F T HO7 T A F
ey fopat @9 oM ? ,
(1) T 1.50.000 (2) ¥ 261000
063 Ru @ & & 39 w1 wa &7
M @I=15)-6=21-(15-6) (2) 14 x36+6-10=
(3) 93 %63 -93 x 37 = 9300 @ 25+ 49T x5 -6 54

o

4) T 1.700

¥F 5 = =ag

Q& T 1.35.000 (4) T 90.000

055
=T w YA w0 2 .
(1) % 30.000 2y T 1.500 (3) T 500 4) T 11.500 064 9+ [6+70f 3-(0+2-6+2)]
& (25 (2) 26 3) 27 FESRN
056 T ¥ ww =fem & T 50.000 F THH 3 a6l F forq 8% 9 A F T A A3 A6 & WA« .
Wwwmaﬁmwmﬁ TE TG B 065 13,14, 19, @, 17 & qegu™ 22 ¥ ¢ & "E 300 BRI
(1) T 52.000 (2) ¥ 62.000 (3) ¥ 51.200 (4) X 48.000 (1 37 é;)’ 47 3) 57 @ 6o
057 =9=m 5 31 e & Y@ @ gl o S ) N ) .
(1y 120° (2) 150° (3) 30° Jf) 60° 066 awiar F 4 A= F T go W A KA ¥ ) qeeaw ¥ T g B s ww w
Wmo1onou v
o «@/g\p\?é 2 w350 6 9 ‘ - :
¢ AT (139 (2 140 U V—&(\.m—r T ar 3a7s ) 120ce
5 1.7¢ 000
067 4%—.,};57%_““%”36“::3%%(, / \\oowwo 2 o )t,
\¢ ,°< \ &5 TJeo 2 2”
= % - () 5<% @ 3t 3w 6Lo !
| 240 - 2 o “ ¥y —% L 14— .9 o0
g om o 2) [31 4 o Vo 7\)\,4;»(%0 702
|u/|<1' IA/623 K . - s
} /6. | L / KQ’ \ \ /ﬂ | Conud...
ol ‘/:{,\ s » 4 N Ls a1 7
n ot NPy vop X E v S 15
1 fg{ C oy Yeo TN (N (_\ G, /7800
1 Ro PR \\\\ 1‘ \ R -




068 ¥l | &1 g 11 A fyem dfmg favr - €0 ;e

T | w1
(A) &g ) [AERAEE
(B) 2 fywmat & W &1 wE - (1) @ a i e (amn O Gt Gaar wan o
(C) gu @1 s (1 gerae 076 freel ofgr A TOR2 4 gpiee e e a tmm
(D) =mw & s (V) e g9 ! (1) e (2w
Wy ma e A R TR e @ T AR !
(D A=V (B (O (D)= (2) (A= (B)=(1). (C)-(1V). (D)-(11) (3) = ) A
L3 A B OV (D)D) (d) (A)-(D. (B)=(T1). (C)-(I11). (D)-(1V)
069 ¥=% wF & fe=rn 1 HAERT B O0R @ T @) AEET Um T A B A0 aem s e 077 frifnd & A @A faziften 1 wEaTan w wrro e o 2
T #ifdm ! v s . ” . . 5] 3 Vitamin - ( (4) Vitamio - B
(1) 64 cm? (210,064 cm® o (3) 192 em? 4 12 em? (1) Vitamin - A 2y Vitamin - 3 Viu
070 T9w % Um afiamg i icedh - ;
Mo om 13 w:'ﬁ”mm;;mm?;:;?;:mlmaﬁ? 078 = MITd H1 ARl naAT e B are
(1) 846 cm? A2 625.¢cm’ \1/3»)' 728 cm’ (4) 746 ¢m? ) FraTTEr (2)  wEran e (3) @k mrigzA (4) AaETHE AYE
N

071 &= m ® #EE g wweT #9g@ A b
() 22.23.24.25 (2) 60.61.62.65 (3) 56.57.58.59 (4) 90.91.92.93 079 w4 wredra gy sifemaersy & arenta, ooz gftrzgz am wEHZA e B araTaETa

sive aiferpomer & wroaraw )
072 70 7 100 % %9 s gm A WA 2 Frtera sfre RS

1y 7173 {2) 79,83 (3) 97.99 (4) R7.89 () F T (2) g (3) fumw mrowed (4)  smdwT
073 Fra & o fogw # A gEm o @ B srar w7 g a am gann)
Ao~ US(, At 291 w1 ffor fpn art o e
# 7 W 1971 (2) 1905 (3) 1970 v,h 1947
L L0 ™
(1) wmufzaw 7 =ga faqw Q) faumarg, 7 &m Py 081 faa famea qfa
(3) gfum 7w fagaA (4) wmEw A afum faoga

YA 7 A rrEr " ord A
074 Fma = faur= oo bomE gfwmas A 7 A0 R OB
Aumas A - we Fm A v A9 arygA AA 7
FT R E W ArwR A W qAW S EHw wwE ad 7
TraE faum % 2R . da fzm omm fmmen 4 @z e o wyferm g
(1) T A ST R mEm b A AR @I P b
(2) =z A F7 R wem koAEA AL R @ I g

o)y 1944 &) 1045 (3) 1946 (4) 1947

082 witqwn, | waiad o ) ggar wf

! Fk atsrirratzn (2)  wrdua (3)  dferar () wgeE
(3) A#AmE? H7 0 g ¥
(4) A 7871 57 R 7= ¥
v O83 & mE m amn A e b fan e v b wrem aw q "y b
075 54 + 0.009 % 791 %) A £1iA .
(1) 0.006 (7)) 6.0 (§) 6000 (4)  AK6H KERIREEEEE () (3 wwn (4) Ny
HUREETA 623 K| 10 [ Contd HEREb 1A 623 K n | Contd
: p ; Pek D)
o . @ - 10T X
Ve /S My ! !,)“, 59 s A \
G . g ¥ '« ¢! o (00 F
o’ ( ) ¢ A
UL e ¢ l_i - ‘4_ RN o O



084 wd & wurwsh @) Frgfe a9 s ¥ 2

) ARE F i (2) = Prafew st

() WRA ¥y AR ) guEs & v
085 ®wedar 0 & 9 W Rug ¥y
() T (2) =MRY @) T @) T

086 Sfaa fawe gl
5 W it ¥ Rad ¥ 9w i % wewren stk Ritwr g
ST T AT G T T e o g /@ awEn w@ ¥ eiw
€ GUEET T ¥
(1) ®&ar "'

Q) W W ww (3) W o ) v fem T

087 e ¥, st W 7 Nar F o vy ww ww fear e

(1) swdren (2) =& (3) fage @ TR
088 sfua fawe ghwl
Au e e ¥ gERE S ¥
UL Qv TR 3 @ @) E
089 sfaa fawea gfm)
TR TS0 ¥ B A A R &
H =W Q) THa (3) ==& e @)
090 ordear 39 T ¥ G W Red ¥
(1) Tm @y g (3) TRmE (CORNE:Rll

091 s fawea ghm .
mﬁmgm%%ﬁ%&mmm%aﬁrﬂﬁmaﬁmiﬁﬂmm

BT EH W@ §

FEH FRV T

(1) & % & g S ¥ i S @ 8

() g A F TE W | B 8

Q) @ % T @ e e o gy G & R s E
@) T & FE 0T

[5J61]

HIREETA/623 K] 2

5

12 [ Contd...

092 fRrr ol & O B TH T W Mg wd aen oo

(1 AT (2) T (3) ww ) w
093 WWT%WT{HE}H#WQ&%I

(1) s @\)-?%a JB) a A (4) g
094 Rimefrer o1 T R T @ wifr @7

(1) orad (2) =g (3)- e [CI:a
095 ared @ TR W9 & U e F @ e e

o wiEfiex (2) wiede (3) oiEniEx 4)  ¥nfey
096 TH AW FEH AT A F @ v R @ swEn e ¥, 9w 3

(1) ¥z wAefar (2) wd smiEm  (3) wHfE @ we i

097 T JEHR HAA UGH A WA 9 ¥ ST IR &1 q@ qaE ARE REHR F

(1) o g (2) wgH Ropwr (3) W T () sl =
098 2007 ¥ ugH e diqvere wew Raemst ¥1

(1) fagemed ome (2) g TEEt  (3) W 39 (4) whm Jgwat
099 s wafa gim oik am @ off S

N w N qefdl @ FE AT F |

B s -qwﬁﬁwéa (3) Rrex ) o v
100 e wafa ghm)

T B AR T we §, R

(1) 39% ors Swam 31

(2) 9 W e B YW qE BT wbaT |

() ' R F ol yHR & TATET F A ¥
() o' orie axgell @ O wwar ¥

HI/REETA 6123 K | 13 | Contd...

QAX?A



T — D gRET

101 sruRerd e & T o |

400, 388, 376. 304. _ 2

VU\ 352 (2) 350 (3) 354 4 372

102 srguitead €& & §d Bl

3.7.16. 35, 74, 2

(- 153 (2) 160 3) 173 ) 151
103 = @ g BT

ADDG. EHHK. ILLO. MPPS.

(1) PRRT (2) QUUX V(}) QTTW 4) PSSV
104 fire of & & fow sfaa el g1

|} I) "]

GlOS!

[>1?

1l & 2 @ By @ P
105 F=egar go7 &K

TEH ¢ W@ 1 T

(1) wsR (2) =t (3) Frr (4) HeTHIT
106 F=&gar ot 1|

e ;g 1 AT

(1) @ (2) == (3) A @r

107 W(mg; E?Wuiwﬁno s | SIS # grafed SE @ ST BT
ADE ; FGJ 1t KNO : 72 )
ay ’lf(jli) ) PQT (3) RQP () TPR

70 &

108 wE=gar o HL
TG ¢ T i AT

SJ61

7 R (3) faz 4)
(1) &t k/(ZJ 2 ) apd
HIREETA6/23 K| 14 \ R
e hecoDefquiteim
. B 0 Y eV weyT
M TR S AR

EPE N

l'll/Rl{I{'l"A/é/?_JﬁK |

109 A B T =@ A A d 9u d affe w9 F o Fiforo
(A) gz '
(B) gt
(C) frosferat
(D) ufEai
(E) uerifas
H R T faeel ¥ @ 9 e gho
(1) (D), (B). (©), (B), (A)
(3) (D). (A). (B). (C). (E)

(2) (B), (D), (E). (C). (A)
W (B). (O), (B), (D). (A)

110 R T = B A TEHN F HATER BT |
(A) P}{[S'HNE
(B) PRINTER
(©) PRENIOUS C
(D) P}UZVENT
(E) PRIORITY
o R T et § § drg faeew g
(1) (B), (A), (O), (D), (E) 0\) (©). (D). (A). (E), (B)
@) (D), (C). (B), (E), (A) @) (A). (E), (B). (O). (D)

11 A9 RE = @ o aifEE ergmen § wifna

(A) =uf,

(B) sfaeg

(©) s

(D) @,

(E) Erlﬁamv&
R T et ¥ ¥ dra R g :
(1) (B), (A), (), (D), (E)

(@) (E). (D). (A). (B). (C)
(3)  (B), (C), (A), (D). (E)

& (D). (E). (B). (C). (A)

12 5374 @1 s R @ gm e

(1) €74 (2) »vER 31 230+ 4) CeEvH

15 | Contd...

< <7



113 go&gar gof &%)
B:4:G:
(1) 36

W4 w5 &Y
(1) =raEn

115 fauws s &¥1

(1 97 2) 47 NESE!
116 fowm s HY
(1) g% (2) uf|w 3) T
117 o sma &Y
o 6 05
118 From s B '
(1) =AY (2) fasgarer (3
119 faum w@ HY)
(1) frer @ EJeUia (3) faar
120 @gea IOt &
DGA : 12 :: AMQ : _?2
(1 19 @ 31 (3) 28
121 ergufed §@ 3| S
5:22::8:_2
o 61 Q) 37 (3) 80
g @ K
HI/REETA/6/23_K ] 16
o RS A\

0

@) e

@) =gl

4) 50

[ Contd... :

a9
oNva¥? ’&r 15 7
%
“)oaa

122 amfﬁi/\eﬁrcﬂ@ﬁrB%ré?fafarrzmﬁrrrzzmuwf:mmmqfazaﬁmﬁ?am'mfﬂ
o1 T BT B C T Apa D & 4 =#1 daw wafe BiAm

AR

(A) (B) ©) (D)

) @ @ @

»B] -
123 = & gof Hif

) @ ~ & ® > @)

124 9 R w ompliell F ¥ B @ e T enpd BT oW ¥ 7

\}WA @) ‘<] G) D— @ 7

125 &9 & g weafas &1 i ey ?
©)

H6

HI/REETA/6/2
RERAK [ Contd...



